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= 5l 647, 000
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(B4L: A1)
DR B FEE | BRE | Lo I
A EE | puE | o = ¥
SEIIA 320, 000 320, 000 0
SEEIRA 100, 000 100, 000 0
FH A 1,520, 000 1,520, 000 0
REEEMBESWA 55, 648, 000 55, 630, 000 18, 000
SZESIRA 142,961, 750] 139, 743, 850 3,217,900
llj'\x FERA 70, 000 70, 000 0
HEEIRA 370, 000 370, 000 0
£ | ERIERSBERA 56,071,000 61,000,000 A4,929, 000
5% SMF SR L RUNA 2, 240, 000 2, 240, 000 0
lﬁ: Z DDA 630, 000 80, 000 550, 000
K| IEEFBIRAG ) 265, 930, 750| 267,073, 850| A1, 143,100
jﬁ AHEXH 170, 415, 750| 167, 989, 000 2,426, 750
* FEEIH 61,618,000 70, 411,850] A8, 793, 850
EHEXH 23,565, 000f 18, 226, 000 5, 339, 000
TERS SRS EEXE 5, 000, 000 5, 000, 000 0
tH SIEEX 260, 000 260, 000 0
By Rl & X 1, 600, 000 600, 000 1, 000, 000
HIESXH 60, 000 60, 000 0
FEFIHIHE () 262, 518, 750| 262, 546, 850 A28, 100
FEFHESMIEEQ)=1)-() 3,412, 000 4,527,000 AT1,115,000
ME(UR| R R FURA G (4) 0 0 0
SA
il |EEEEmE 8, 140, 000 1, 440, 000 700, 000
lgrf H e 2% B i X Hi &L (5) 8, 140, 000 1, 440, 000 700, 000
% ERBEHFESINZELE(6)=4)-(") A8, 140,000 A7, 440,000 AT00, 000
%
B3
z " FEIL & IR IRA 5, 000, 000 5, 000, 000 0
() A H—ERXSRERASILA 2, 448, 000 6,475,000] A4,027,000
% Z DD FEERAET (7) 7,448,000 11, 475,000 A4, 027, 000
% B EEXH 1, 000, 000 2,462,000 A1,462, 000
IZ[Z| P —EXRSEEAE X 2, 448, 000 4,698,000 A2, 250,000
Sl —c 2 mmmsm@r e o 1,777,000 1,777,000
1z Z DD EEZ HiE (8) 3, 448, 000 8,937,000 ADb, 489, 000
ZTOMDETESINTZEEE (9)=(7)-(8) 4, 000, 000 2, 538, 000 1,462, 000
FHBZH: (10 0 0 0
LB EEET AT28, 000 A375, 000 A353, 000
(1)=(3)+(6) +©)-(10)
BRI EEES (12) 1, 375, 000 3175, 000 1, 000, 000
LHERXINEEES (11)+(12) 647, 000 0 647, 000




